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Mit Inventor Boardmitteln

Makro von kaphil aus *.XYZ und *.YBC in Inventor als Exceltabelle eingefugt.

Biegeradius|Biegewinkel | ) Gg.rade MASTER/YBC: MASTER/XYZ
Punkt _ . VerdrehwinkellBogenlange| Lange Number of points = 2 Number of points = 4
point X Y Z benc.hn bendin twist angle |arc length| straigh Number of Straights = 3 Number of Straights = 3
radius angle length Unit of Length = millimeter Unit of Length = millimeter
P1 0 0 0 0 Unit of Angle = grad | .
P2 | 900 0 0 200 Point Y B C Radius & . - - =
P3 1000 0 0 100 90° 0° 1571 5 5 5 5
P4 | 1000 | 100 0 0 0 900 0 % 100] 1 0 0 1000 100
P5 | 1000 900 0 800 1 800 90 90 100 2 1000 0 1000 100
P6 1000 1000 0 100 90° 90° 157,1 2 900 0 0 ol 3 1000 1000 1000
P7 1000 1000 100 0
P8 1000 1000 1000 900 Deweloped Length: 2914,2 End to End Length: 3000
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